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Note: Question no. 1 is compulsory. Attempt any four

questions from questions no. 2 to 7.

1. (a) Fill in the blanks with the appropriate

words given in the parentheses. 5

1) A (mutant/wild) type is
one in which the genetic material is
altered.

(i1) In most (prokaryotes/

eukaryotes), individuals normally
exhibit one or two sex phenotypes.

(1ii1)) In the absence of testes the
(Wolffian/Mullerian) ducts
degenerate.

LSE-03 1 P.T.O.



iv) A true (aphrodite/
hermaphrodite) possesses functional
male and female reproductive
systems.

(v) In the (male/female) birds
normally one gonad develops while
the other side is suppressed.

(b) Match the following : 5

Column A Column B

(i) William Bateson (a) ELISA technique
(i1) Walter Sutton (b) Population is

and Theodor randomly mating
Boveri one
(iii) AIDS (c) Bandom changeg
in gene frequencies
(d) Chromosome
(iv) Hardy-Weinberg theory of
inheritance
(v) Genetic drift (e) Naqu the science
genetics

2. (a) Why was Mendel not able to find out about
linkage ? Explain. 5

(b) Discuss the genetic Dbasis of sex
determination. 5

3. Write short notes on any fwo of the following : 2x5=10
(a) Epistasis
(b) Pleiotropy
(c) Mitochondrial proteins
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4. Explain the formation of ring chromosomes and
isochromosomes and their effects on organisms’

phenotypes. 10

5. Discuss the role of mutagens in inducing

mutations. Enlist five uses of mutations. 10

6. (a) Describe the type of cells involved in

immune system. 6

(b) Explain how blood groups and diseases are
related. 4

7. Differentiate between identical and fraternal
twins and compare their genetic makeup. How

are twins used in the genetic studies ? 10
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